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Dooklet A

Ouestions 1 to 10 carry 1 mark each Guestions 11 o 18 camry 2 marks each.

For each question, four oplions are given. One of themn is the comrect answer.

Make your chwice (1,2, 3 or 4). Shads the oval (1, 2. 3 ord) on the Ophical Answer
Sheet. {20 marks)

1 An aeroplane travelied 69 570 km. Round off this distance to the nearest
1G00 km.

(1) 63000 km
' (2) 69500 km
(3)  ©9 8600 km
{(4) . 7000C km

2 Tina saves $57 & month. How much will she save in 2 years?
) $114
{z) - 3684
(3} %1140
(4) %1368

3 Which of the following fractions is MOT equivaient to§ 7

B

1y

- 3
10

o 10
(2) 15
12

i3 12
B 18
14

4 =

(4) 16

4_."',_  Which of the following fractions has the greatest value?

' 3

1 e

(1 2

4

2 =
@ 5.
A 9
3 T
(3) 10
11
(45 i
(4) 35
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5 wWhat is :Z of 4 hdron?
(1y 16 min
{2) 45 min
(3} 48 min
(4 78 min

5 Find the missing value in 34 + ‘ 74

1
1 4.
() 8
P
{2} 45
3
3 10—
(3) :
1
4 11—
4 3
7  The figure shows a rectangle. What is the area of the shaded parts?

(The mure is not drawn to scaie }

7 om -
(1) 18cm’
(2) 24cw’
(3) 42cm?
{(4) 84ocm’
3 There are 48 pens and 64 pencils in a container. What is the ratio of the number

of pendiis to the number of pens?

(y 2:3 ,
(2) 3:2 N

@3 3:4 (4
(4 4:3
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5N

(1) 50
(2) 48
(3) 14
(4) i1

10 What is 100 tens less ﬂjan 1 mithon?

(1) 999300
(2) 999000
(3) 990000

(4) 00000

. - J |
i LY = b= [Lecpu g ._X -

~ ratio of thélir total mass.

‘(1) 3:8
2) 5:6
(3)  5:11

C4) 6:11

There are 18 apples and 12 m“rgoes na basket Vyhat fractlon of the fruits a@
12 - &

mangoes?

1
{h 3

2
@ 3

2
@
| 3
©(4) 5
{5
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13 fim spent = of his pocket money and saved o of the remamndear. What fraction
' 5 .

of the pockel meney did he save”?

1
Mz
1
(2) 10
1
Gy =
i5
f
4} —
{ r 20

14 Find the area of the shaded trniangle.
{The figure is not drawn (o scale )

Ty 15aw’
(2) ‘24cm’
(3) " 2&cm?
(4) 30cm?

15 The marks Meiling and Sufang scored in an English test are in the ratio
3 : 5. If Meiling has 16 marks less than Sufang, how many marks did Meiling

score’?
N 24
2 40
(3) 48
{4) 80
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Mame: { 3 Class: Primary (.}

Bookiet &
Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided,
For questions which require units, give your answers in the units stated. {10 marks)

i6 The vatlue of the digit 8 in 487 653 is 8 x ) .

Ans :

17 . Write nine million, six hundred and five thousand and seventy-three in figures.

Aﬁs:

13 cvaluate 507 x 28.
Ans:-

19 How marny hours is % of a day?
Ans: h

20 - Divide and express the answer in its simplest form.

: 5 )
10
q | Ans:
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4
vhat fraction of EE years iz 10 months?

Express your answer in iis simplest form.

Ans:

Thare ars 1000 men and women at a party. 300 of them are women. What is the
ratio of the number of men to the number of women at the party?

Ans:

23

The ratio of the number of teachers to pupils at a kindergarten is 17 8. If there
are 96 pupils, how many teachers gre there?

Siudy the number patterns below.

45
A |
8,QY 3 7
5 g 12
24

- What is the missing number in the box?

Ans:

The product of two numbers is 7738. If the smaller number is 53; what is the
bigger number? '

Ans:

P35 Math SA1 2007 &
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Guestions 26 to 35 carry 7 marks each. Show your working clearly in ihe space beajow
sach guesticn and write your answers in ihe spaces provided. For questions which
require units, give your answers i tha units slated. {70 marks)

25 The sum of two numbers is 204. The difference between the two numbers is 13,
Find the larger numberi. -

Ans:

27 182 black and white circles are arranged in the following pattern.

How many white cirgiés are there aliogether?

98 Find the value of 85 + 10 x (80 — 60) + 4.

Ans:

20  MrLee bought some chairs. % of them were red. The remaining 36 chairs were

white. How many chairs did he buy aliogether?

écli‘ Ans:

P

PS5 Math SA1 2007 7 ‘ /Bl!!
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R .1 1 - -~ - “1_ 1 - A ’
34 St nad 8a m of ribbon. She cut nut 3 pieces of nigbens measunng s-é— m each io
bbon lefl.

make fiowers. Find the iength of the n

Ans:

What is the Tissing fraciion in the series below?

o

T
'

el

Al

N

4 of a number is 32. What is %— of the numbe,r’? _

L
i8]

Ans:

Find the unshaded area of the reciangi‘e‘below.
(The figure is not drawn to scale )

10 cm

Ans: ' em? '?D

45607
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34 A piece of wire of 140 om tong was cut into 2 pieces in the ratio 8 1 6. The shorer
piece was bent to form a square. yynat is the lengid of the square’

Ans: cm

ss is decreased by

35 The ratio of May’'s mass to Nina's mass is 4: 3. lfMay's ma
me mass as

& kg and Nina’'s mass is increased by 1 kg, May will have the sa
Mina. What is Nina's original mass? '

ANs: kg

?{i

wan
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For guestions 36 to 48, show your working clearly in the space below each question
and wrile your answers in the spaces provided. The niumber of marks awarded is
shown in brackets [} at the end of each question or part-guestion. (50 marks}

35 Mary and her cousin had $400 aitogether. After giving $15 1o her. cousin, Mary
had as much money as her cousin. How much money did Mary's cousin have at
first? .

Ans: {31

37 Zach paid c521 0 for 84 markers. If the price of each marker decreased by $0.50,
how many more markers could he buy with the money he had?

Ans: Eg3)

-
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o 2 - s
38 ~ of the peopie at a concert were women and - of ihem were chilaren. i there
8 ' 16

were 420 men Now iany women were there at the concert?

Ans: | 31

39 The square ABCD of side 14 cm has the shaded area cut off.
© and E are the mid-points of the sides AB and AD respectively.
Find the area of the unshaded part of the square.
{The figure is not drawn o scale.)

Ans: ' 2]

'%5
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40 Al had $189. Ha bought 6 DVD which cost nim $18 each. Find the ratic of the
amount Ali spent to the amount he had teft.

Ans: {3l

Ly Navid saved $9 every day. After a number of days, he used all the mcne\; that
ke had saved to buy a few storybooks that cost $21 each.

(a‘; What was the 1east numoer of days that he neeue{i to save in order to buy
- the storybooks?. :

(D) How many S:UFybOOr(S did he buy?

Ans: (2) | 2,
) S
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-
2z

42 There were some markers i a box of ihe markers were hiack and the rest

[l

5 , . Z .. . .
were red. 3 of the biack and 3 of the red markers were taken out from the box
and there were 1141 markers left in the box. How many markers were there in

the box at first?

: ) - . L2 ] . : 1 .
43 Navid had some durians. He sold c of them in the aftarnoon and — of the

remainder in the evening. There were 30 fewer durians scid in the evening than
in the afterncon. ,

(a) How many durians did he sell in aii?.

(b) I he sold the durians at $5 each, how much money did he collecfauogether?
Ans: {2 iZ]
-~ :
no {b) 12]
P5 Math SAT 2007 13 5
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oo

44 The figure below shows rectar The figure is not drawn 1o scaie.)

€
[en}
-‘Ls
]
i
Q‘J

(@) Find the shaded area.

(b) What fraction of the rectangle is shaded?
{Express your answer in its simplest form.)

20 ¢y

Ans: (@) 131
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ceople met at a party. Each person shook hands with everycne eise.
1 oo shiook hands wilh 4 imes as many men 2853
hands with 5 times as many men as women.

How many men and how many women were at the party?

— — _,_l 1,
women Mrs Les snooR

Ans; men

i

39 . women {5]

| 4
STAR ZEST HOME TUITION TEL 6384[%%7
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© & ime sncl

inAlF i £ 2 it N F
Wendy baked some muffins. She packed half ihe muifins eqgually Inlo § 1ins an
(LR w1 4 Sy = ? ' ’ Y ‘
the other haif equaily into 8 boxes. There were 68 muffing in 2 tins and 3 boxes
altogether. How many muffins did she bake?

48

Ans: ' i5]

%
4
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1 3 Trdmr s gt YT
7 Atice read — of a book on Thursday, 2 of the remainder on Friday and 40 more
[ERY] S p 9 V
] : = [a] 3 ey
pages on Saturday than on Fnday. She read the last 110 pages on sunday.

(a) How many pages were there in the pook?

(by What fraciion of the book did she read on Saturday?
(Express your answer in its simplest form.)

_ , Ans: (a) _ i _13]
DA !

7]
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dinner last Sunday. The table

;'ﬂﬂr"- '.\\.r

Two famities went o a restaurant for a buffet <
shows the number of peopte who went for the dinner and the amount of

) 7 Tan Family <0h ran“ hr
Number of aduits 3 #____’?# -
Eumber of children 3 D
Total amount paid 3180 l C§240
{ >

)

paid.

T_T

The amount each adult paid and the amount each child paid was in the ratio 3 )1
for the buifet dinner.

{ay How much lid each child pay?

(I} Find the number of aduits in the Koh family who went for ihe buffet dinner.

| Ans:' {(a) [2]

() (3]
go
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QL o2 03 Q4 05
4 4 i B 3 3
Q6 Q7 Qs Q9 QLo
i 2 4 1 2
Q1 Gi2 1B 014 G5
3 3 3 1 i B
16, 15600 _ 17. 9685073
18, 14196 9. 18h
! !
0. 25
22, 7 :3 23. 12 teachers
24, 42 25. 146
26 111 27. 4% white cireles
28. i35 29. 61 chairs
3
30 L 3. 12
O
32, 12 33. 27cm’
34, 15cm 35. 21ke
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345, 460 = 2 = 200

200 — 15 = BI85

37. $210 — 84 = 32.50
£2.50 — $0.50 = 52.00
3210 — 32 = 365
185 — 84 = 21 more markers

3 3
38. -+ —

b 16

o 3

— o+ = =

16 16 16

6 -9 =7

424 — 7 = 68

£0 = 6 = 360 women

i ]
29, - x 7Tx 7= 2d—cm?

—i— x 14 x 14 = Wem?

98 — 24l = ’73i(:m2
2 2

40, 4.3

41a. 7 days
41b. %63 — $21 = 3 storybooks

42, iR markers

43a. 210 durians
43b, 51050

44a, 160em?
44p, %
3

Page2 o' 3
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45. 25 men & women
A6 192 muffins

47a. 360 pages

3
470, —

18
484, 515

48b. 5 adulis
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